1. The limit is equal to 0.
2. The limit is equal to 1.
3. x+y+z2=0

4. v —2y+2=5

5 OP  wue¥ + vye® + wye™ and OP  wuxe¥ + ve® + wxe™
. - — 1 =
0r = V@t oy~ Verora
6. N _(@—rp-1) v+w @+gw+v) N _ (g=r)p-Dutw)
C Ou (p+r1)? p+r (p+r)? v (p+1)?
I (pt+gw+u) anda_N_(q—T)(p—l)(u+v) vtu  ptg
p+r (p+r)? Ow (p+r)? p+r  (p+r)?
7. dz =23
dt|,_,
8. dz =20
dt t=m
9. 1)11:_3_—4\/§
10
48
10. Dy = —
V53

11. (0,0) is a minimum and (£1,+1) are maximums
12. (£2,0) are minimums and (0, £1) are maximums

13. From the chain rule z, = f'(t) and 2z, = —f'(t), so the identity follows.



